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1.- READ AND COMPLETE USING THE CORRECT WORDS. (2 MARKS)

key words - accent - small, simple words - beat

Sentence stress is what gives English its rhythm or . You remember that word stress is

accent on one syllable within a word. Sentence stress is on certain words within a sentence.

Most sentences have two basic types of word:

content
Content words are the of a sentence. They are the important words that carry the meaning or

sense the real content.
structure

Structure words are not very important words. They are that make the sentence correct

grammatically. They give the sentence its correct form its structure.
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2.- LISTEN AND CIRCLE THE WORD STRESSED IN EACH SENTENCE. (2 MARKS)

1) I asked you to buy me a bunch of red roses. https://voca.ro/leDupkzGip9A
2) 1 asked you to buy me a bunch of red roses. https://voca.ro/1ePxtTEvzWhj
3) I asked you to buy me a bunch of red roses. https://voca.ro/1c 1 UsXAtUCjs
4) I asked you to buy me a bunch of red roses. https://voca.ro/1 SnMVweHMvPC

3.- READ AND SELECT THE CORRECT OPTION. (2 MARKS)

1. Which words in a sentence are usually stressed?

A) content words

B) structure words

2. Which words carry little meaning but make a sentence grammatically correct?

A) content words

B) structure words

3. When speaking English, we try to create a rhythm in which the time between stressed words is
A) the same

B) different

4. An exception to the rule: We can also stress structure words in order to wrong

information.

A) provide

B) correct

4.- SELECT THE CORRECT WORDS IN EACH SENTENCE. (2 WORDS)

1. “If vou can identify your differences with your parents, you can have a good relationship.”
Which of these words is a keyword?

A) differences

B) can

C) with

D) your
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2.“If you can identify your differences with your parents, you can have a good relationship.”

Which of the following is unimportant to the meaning of the sentence?
A) parents

B) identify

C) good

D)a

3. “How can parents support their children through the bad times?”
Which of the following contributes to the meaning of the sentence?
A) through

B) support

C) can

D) the

4. “How can parents support their children through the bad times?”
Which of the following is a content word?

A) through

B) the

C) bad

D) their

5.- LISTEN AND WRITE THE NEXT SENTENCES USING CAPITAL IN STRESSED WORDS.

A)
B)
0O
D)

(2 WORDS)

toLIVEWORKSHEETS



